
12512518
225265020
325517517
4257610020









12512518
225265020
325517517
4257610020





!
!

!

!

!

...............
!

...............
!



!

!
!

!
!

!

!

!



12512518
225265020
325517517
4257610020



...
...







12512518
225265020
325517517
4257610020



76. Since they ............... the football game to Germany last year, they have won all the other games easily.

1) lose 2) were losing 3) lost 4) had lost 

77. The study also asked the students ...............
stress level.

78. Every year my father calls all family members to discuss where we should go ...............
1) for 2) in 3) at 4) on

79. ............... him as soon as possible.

1) would catch 2) had caught 3) are going to catch 4) will catch

80. His ............... age was 45, not 40 as he had stated on his form.

1) various 2) actual 3) basic 4) purposeful

81. ............... because everyone agreed that it 

was totally irrelevant to the subject under discussion.

82. If your heart is ............... it makes thousands of ways, but if it is not, it makes thousands of excuses.

83. Either he works ...............

84. Now, I’m not sure exactly when I will be free. However let’s arrange a ...............

85. You have really made a terrible mistake; I insist that you take ...............



86. We unfortunately now live in a society which views success ...............
things that we have. 

87. The young girl is ...............

Cloze Test
Think about all of the electricity you use in your house. You (88) ............... have a TV, a washing machine, a 

computer, a lamp, a microwave, and much more. All of these things are powered by electricity. Electricity (89)  

............... ............... from wind and water. Elec-

............... resource, meaning sooner or later we will run out of the 

fuel that creates the electricity. Nuclear energy uses uranium as a fuel. Uranium is an environmental resource 

that we have much more of in the world than fossil fuels such as coal and natural gas. Also, nuclear energy (92)  

...............
88. 

89. 1) c

90. 

91. 

92. 1) generates 2) includes 3) lasts 4) surrounds

Passage 1
Heart disease is Western society’s number one killer. It accounts for one-third of deaths in America and 

start of the 20th century, but it has risen greatly since then, with a slight downturn since 1960. Heart disease 

 

Evidence for this idea  

And there is a higher rate of heart disease among immigrants to America, such as Japanese-Americans and 

the Western environment promotes the development of the disease.

arteries that are arteries supplying blood to the heart. If the arteries become narrowed enough or blocked, the 

93. According to the passage, when did heart disease begin to rise?

94. What does the writer mean by “this idea” in paragraph 1?



95. 

96. 

Passage 2

which are then used by the cells to repair themselves. Since the human body can manufacture only 11 of the 20 

 
 

It’s important to note that protein cannot be stored in our bodies; therefore, we need to have a good 

97. What aspect of protein does the passage mainly discuss?

3) How it is produced  4) Where it can be found
98. Which of the following is TRUE about the origin of the word “protein”?

99. Which of the following is NOT true about protein, according to the passage?

100. ............... .
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